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1.
Heights	of	16	students	are	given	below.	Find	the	mode.
Height	(in	cm) 129 130 138 145 154 164 171
No.	of	students 1 1 3 2 2 1 6

(i) 170cm (ii) 172cm (iii) 169cm (iv) 171cm (v) 173cm

2.
Heights	of	16	plants	are	given	below.	Find	the	mode.
Height	(in	cm) 52 58 80 84 85 87 98
No.	of	plants 3 1 1 5 1 2 3

(i) 82cm (ii) 83cm (iii) 84cm (iv) 85cm (v) 86cm

3.
Ages	of	31	students	are	given	below.	Find	the	mode.
Age	(in	years) 10 11 12 13 14 15
No.	of	students 6 2 8 5 3 7

(i) 14years (ii) 11years (iii) 13years (iv) 12years (v) 10years

4.
Scores	of	31	students	are	given	below.	Find	the	mode.

Score 70 73 74 75 80 82 84 85 86 87 88
No.	of	students 3 4 2 3 2 3 2 6 2 2 2

(i) 83 (ii) 85 (iii) 84 (iv) 87 (v) 86

5.
Rainfall	of	21	days	are	given	below.	Find	the	mode.
Rainfall	(in	mm) 5 6 7 8 9 10 11 12 13 14
No.	of	days 2 1 2 1 3 1 1 1 5 4

(i) 12mm (ii) 14mm (iii) 15mm (iv) 13mm (v) 11mm

6.
Temperatures	of	21	days	are	given	below.	Find	the	mode.
Temperature	(in	degree	C) 25 26 27 29 30 31 32 33 34 35

No.	of	days 4 3 1 1 1 1 3 1 3 3

(i) 24°C (ii) 23°C (iii) 27°C (iv) 26°C (v) 25°C

7.
Weights	of	21	students	are	given	below.	Find	the	mode.
Weight	(in	kg) 40 42 44 47 55 56 58 59
No.	of	students 2 2 6 3 1 1 2 4

(i) 45kg (ii) 46kg (iii) 44kg (iv) 43kg (v) 42kg

8.
Wages	of	11	labourers	are	given	below.	Find	the	mode.
Wage	(in	rupees) 336 367 376 386 413 429
No.	of	labourers 1 2 1 2 1 4

(i) ₹428.00 (ii) ₹429.00 (iii) ₹431.00 (iv) ₹427.00 (v) ₹430.00



9.
The	following	table	shows	the	weights	of persons	in	a	group.Find	themode	weight.63
Weight	(in	kg) 30	-	40 41	-	51 52	-	62 63	-	73 74	-	84
No.	of	persons 9 20 15 6 13

(i) 771
16 kg (ii) 785

16 kg (iii) 385
8 kg (iv) 801

16 kg (v) 769
16 kg

10.
The	following	table	shows	the	weights	of persons	in	a	group.Find	themode	weight.61
Weight	(in	kg) 10	-	18 18	-	26 26	-	34 34	-	42 42	-	50
No.	of	persons 12 12 14 8 15

(i) 492
11 kg (ii) 501

11 kg (iii) 512
11 kg (iv) 491

11 kg (v) 490
11 kg

11.
The	daily	wages	of workers	in	a	factory	are	given	below.Find	themode	wage.110
Wage	(in	rupees) 30	-	40 41	-	51 52	-	62 63	-	73 74	-	84 85	-	95 96	-	106
No.	of	workers 14 9 14 23 18 12 20

(i) ₹71.57 (ii) ₹69.71 (iii) ₹69.57 (iv) ₹69.86 (v) ₹70.57

12.
The	daily	wages	of workers	in	a	factory	are	given	below.Find	themode	wage.176
Wage	(in	rupees) 20	-	28 28	-	36 36	-	44 44	-	52 52	-	60 60	-	68 68	-	76 76	-	84
No.	of	workers 10 27 30 26 11 30 15 27

(i) ₹39.71 (ii) ₹39.43 (iii) ₹40.43 (iv) ₹39.57 (v) ₹41.43

13.
A	frequency	distribution	table	is	given	below.Find	themode	.
Class-Interval 5	-	11 12	-	18 19	-	25 26	-	32 33	-	39 40	-	46 47	-	53
Frequency 50 49 50 5 13 36 13

(i) 1159
102 (ii) 387

34 (iii) 1363
102 (iv) 580

51 (v) 1261
102

14.
A	frequency	distribution	table	is	given	below.Find	themode	.
Class-Interval 4	-	12 12	-	20 20	-	28 28	-	36 36	-	44 44	-	52
Frequency 9 22 35 6 25 13

(i) 473
21 (ii) 472

21 (iii) 158
7 (iv) 514

21 (v) 493
21

15.

The	following	frequency	distribution	table	givesthe	monthly	consumption	of	electricity	of
consumers	in	a	locality.Find	themode	units.

104

Monthly	consumption	(in	units) 59	-	69 69	-	79 79	-	89 89	-	99 99	-	109 109	-	119 119	-	129
No.	of	consumers 11 8 24 11 17 10 23

(i) 2509
29 units (ii) 2480

29 units (iii) 2452
29 units (iv) 2453

29 units (v) 2451
29 units



 1)	(iv)  2)	(iii)  3)	(iv)  4)	(ii)  5)	(iv)  6)	(v)

 7)	(iii)  8)	(ii)  9)	(v)  10)	(v)  11)	(iii)  12)	(ii)

 13)	(i)  14)	(ii)  15)	(v)
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